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QUESTION 1

Your organization maintains two SOA Cloud Service instances used separately for testing and production. 

What is the best method for setting the property values and endpoint addresses that may be unique to each
environment while deploying the same SOA composite application to both instances? 

A. Update any required values for changed properties or endpoint addresses in the Fusion Middleware Control web
application immediately following the deployment of the SOA archive. 

B. Edit the application\\'s configuration plan to dynamically retrieve values for properties and endpoint addresses from
the environment upon deployment. 

C. Define specific properties and endpoint addresses within the deployment descriptors contained within each of two
versioned SOA archives. 

D. Create two configuration plans that contain the environment-specific values for properties and endpointaddresses. 

Correct Answer: D 

 

QUESTION 2

Which REST API can be used for registering a device as third party device? 

A. CREATE /iot/api/v2/private/partners 

B. POST/iot/api/v2/private/partners 

C. REGISTER /iot/api/v2/private/partners 

D. PUT /iot/api/v2/private/partners 

E. GET /iot/api/v2/private/partners 

Correct Answer: B 

Explanation: You can register all devices in Oracle IoT Cloud as third party partner devices by using this REST API:
POST /iot/api/v2/private/partners. 

https://docs.oracle.com/en/cloud/paas/iot-cloud/develop/specifying-devices-third-party- partner-devices-oracle-iot-cloud-
service.html 

 

QUESTION 3

Which two are NOT default start and end events in the Processes feature of Oracle Integration Cloud? 

A. SOAP start and SOAP end event 

B. Folder start and None end event 

C. Message start andMessage end event 
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D. Task start and end event 

E. None start and end event 

Correct Answer: AD 

Explanation: https://docs.oracle.com/en/cloud/paas/integration-cloud/user- processes/define-process-start-and-
end.html#GUID-E3E20D7C-D135-419C-8750- F8D9147590D8 

 

QUESTION 4

You are tasked with creating an OIC orchestrated integration flow that supports a B2B document exchange. When
configuring the B2B action (formerly known as the EDI Translate action), there are several capabilities as well as
limitations. Which statement is NOT true about OIC B2B capabilities? 

A. When defining the EDI message type, both the document version and document type must always be explicitly
selected. 

B. A previously created Trading Partner Agreement is optionalwhen configuring the inbound or outbound translation 

C. Performing validations on EDI document is required for inbound translations, but optional for output translations. 

D. You can customize standard EDI documents by adding new schema constructs or by editing existing constructs. 

Correct Answer: D 

Explanation: https://docs.oracle.com/en/cloud/paas/integration-cloud/integration- b2b/generate-outbound-edi-application-
message.html#GUID-243A1FAF-D556-4C72-8A70- 2568B3F9F188 

 

QUESTION 5

What are two possible reasons for a Gateway not getting started? 

A. The loT Service may be down. 

B. The provisioning file may contain correct Activation ID and Activation Secret. 

C. There is an invalid certificate. 

D. The provisioning file may contain incorrect Activation ID and incorrect Activation Secret. 

Correct Answer: AD 
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